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Problem

60.

69.

F . =850Ncos55°=48.75N

para

F =&5.0Nsin55°=69.63N = NormalForce

perpendicular

_SF
m

600" 48.75—69.63N ® 1.

S 4.00kg
u, =0.355

a

10.0kg(9.80ﬁ2J T = 10.0kg(2.00ﬁ2j
S S

T =78.0N

For the 5.00kg block:
m
T-T — yk[S.OOkg(QSO—Zﬂ
s

780N -T — 11 [5.00@(9.80 ﬁﬂ
S

T =68.0N —(49.0N )u,



76.

For the 3.00kg block:
T — u (mgcos25.0)—mgsin 25

T —(26.6N)u, =18.4N
Substituting from above:

68.0N —(49.0N)u, —(26.6N ), =18.4N
U, =.656

T78.0N

T =359N

SF =F—130Ny,
SF_ =F_ =70.0Ne0.7=49N

o = PN geer™
s = 136 kg e
_ F-130N 0.1

a led ,max
el 13.25kg

6.867" =L~ 1N

s> 13.25kg
F=103N




